LYNX MANUAL DOC .REV .A 24-02-2014
LX0884 GOBLIN 500 - 550 STRETCH TAIL KIT - SILVER
LX0885 GOBLIN 500 - 550 STRETCH TAIL KIT - RED
LX0886 GOBLIN 500 - 550 STRETCH TAIL KIT - BLACK

Hex cup screw M2.5x6
Add Loctite 242

TBEM2.5X5
Bottom hex cup screw M2.5x
Standard G500 tail hub assemblyto reuse
STEP 1 b
' 1 ,DR1052
| G500 - Stretched tail case cover plate MF695_77
Lo Flangge bearing 5x13x4
I Factory Installed
[ - Loctite 648
< Standard G500 _ y
TCEM2.5X6 bell crank support < Y

fo reuse

DR0591
/G500-TOII Upper Case

Loctite 648

[ 7
> 0

|
~

MFé695_77

Flangge bearing 5x13x4
Factory Assembled

TCEM2.5X6

Hex cup screw M2.5x6 R1056 .
DR1051 Add Loctite 242 1587-3M-4.5 / HTD Timing Belt - Geatz
I Make USA
G500 - Stretched tail side plate DR1053 DR1050 fTCEM2.5X6
DR0O593 G500 - Stretch tail case spacer G500-Stretched vetical fin Hex cup screw M2.5x6
G500-Tail Case Space Add Loctite 242
Standard G500 linkage
fo reuse
STEP 3
Loctite 242
§
DR1055 4 i Stickers note add optional
G500 - Tail push rod adapter . a4 At supply stickers here
\ L DR1054 _ 2 £ 54 - \\
G500 - M2.5x23 thead rod . T,

-

Loctite 242 @

STD tail push rod G500 to reuse

: ; Stretch Tail Push Rod Assy
I I Adjust Likage position per your tail setting

LTINS

HELI INNOVATIONS




	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5


